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EPBAE—GuserloglfeE, TEESRITERINEL L userlog A, MIEERSBEST
FIERREIREPIERE userog B, BILABIRSSUIMEIET, FRS, —MwiresharkEEIER
fi#tuserlog, FEXJwiresharkffl—EANERL,

1. #M UserLog-new.luaZlwiresharkfIZ2E B R (TR IMENRILEB R TG, BT RS
—T, BERAAELEBRTEE— UserLog-new.lua.bakfIszfs, )
-EFWEH B userlog SR THRIT

--by H3C TSC navy

--2014.4.8

- BB — AN ERROMRITRS

local userlog = Proto ("UserLog", "H3C Firewall Session Userlog")

-~ TN ETEREL

function userlog.dissector( buffer, pinfo, tree )

~[EFRRINFER
subtree = tree:add (userlog, buffer())
offset =0

--{&Hcolumns

pinfo.cols.protocol = "UserLog"
pinfo.cols.info = "Flow Version is "
pinfo.cols.info:append(buffer(0, 1):uint())
pinfo.cols.info:append(" Flow Count =")
pinfo.cols.info:append(buffer(2, 2):uint())

- INuserlogfR33k

subtree:add("---------- UserLog Head----------- by H3C TSC navy")
subtree:add(f.version, buffer(0, 1))

subtree:add(f.logtype, buffer(1, 1))

subtree:add(f.count, buffer(2, 2))

subtree:add(f.timestamp, buffer(4, 4))

- MuserlogiR ISR, RiEcountFERIERERNS LRER

version = buffer(0, 1):uint()

if version == 3 then

--V3 Wi H S AT

count_num =1

while count_num <= buffer(2, 2):uint() do

subtree:add("---------- UserLog no:" .. count_num .. "---------- ")
subtree:add(f.proto, buffer(16 + 64*(count_num - 1), 1))
subtree:add(f.Operator, buffer(17 + 64*(count_num - 1), 1))
subtree:add(f.IPVerion, buffer(18 + 64*(count_num - 1), 1))
subtree:add(f.IPToS, buffer(19 + 64*(count_num - 1), 1))

subtree:add(f.SourcelP, buffer(20 + 64*(count_num - 1), 4))
subtree:add(f.SrcNatIP, buffer(24 + 64*(count_num - 1), 4))
subtree:add(f.DestIP,  buffer(28 + 64*(count_num - 1), 4))
subtree:add(f.DestNatIP, buffer(32 + 64*(count_num - 1), 4))
subtree:add(f.SrcPort,  buffer(36 + 64*(count_num - 1), 2))
subtree:add(f.SrcNatPort, buffer(38 + 64*(count_num - 1), 2))
subtree:add(f.DestPort, buffer(40 + 64*(count_num - 1), 2))
subtree:add(f.DestNatPort, buffer(42 + 64*(count_num - 1), 2))

subtree:add(f.StartTime, buffer(44 + 64*(count_num - 1), 4))
subtree:add(f.EndTime, buffer(48 + 64*(count_num - 1), 4))

subtree:add(f.InTotalPkg, buffer(52 + 64*(count_num - 1), 4))
subtree:add(f.InTotalByte, buffer(56 + 64*(count_num - 1), 4))
subtree:add(f.OutTotalPkg, buffer(60 + 64*(count_num - 1), 4))


https://zhiliao.h3c.com/User/other/99

subtree:add(f.OutTotalByte,buffer(64 + 64*(count_num - 1), 4))

subtree:add(f.Reserved1, buffer(68 + 64*(count_num - 1), 4))
subtree:add(f.Reserved2, buffer(72 + 64*(count_num - 1), 4))
subtree:add(f.Reserved3, buffer(76 + 64*(count_num - 1), 4))

count_num = count_num + 1

end

else

-V WA B SART, FoEEERIIE

count_num =1

while count_num <= buffer(2, 2):uint() do
subtree:add("---------- UserLog no:" .. count_num .. "---------- ")

f.SourcelP, buffer(16 + 64*(count_num - 1), 4))
f.DestlP,  buffer(20 + 64*(count_num - 1), 4))
f.SrcPort,  buffer(24 + 64*(count_num - 1), 2))
f.DestPort, buffer(26 + 64*(count_num - 1), 2))

subtree:add
subtree:add
subtree:add

subtree:add

subtree:add(f.StartTime, buffer(28 + 64*(count_num - 1), 4))
subtree:add(f.EndTime,  buffer(32 + 64*(count_num - 1), 4))

subtree:add(f.proto, buffer(36 + 64*(count_num - 1), 1))
subtree:add(f.Operator, buffer(37 + 64*(count_num - 1), 1))

--subtree:add(f.Reserved, buffer(38 + 64*(count_num - 1), 40))

count_num = count_num + 1
end
end

end

-- BN ER
f = userlog.fields
--format = {"Text", "Binary", }
--userlog 3kt 16 Byte, @#E: hRZversion-1Byte; A5 ogtype-1Byte; B & HEE{Ecount-2Byte;
RIERT AR timestamp-4Byte; EASRAN
f.version = ProtoField.uint8("FWVer", "FW Version", base.DEC, {[1]="V1",
[3]="V3")
f.logtype = ProtoField.uint8 ("LogType", "Log Type" , base.DEC, {[1]="NAT",
[2]="BAS",
[4]="Flow"})
f.count = ProtoField.uint16 ("LogCount", "Log Count" )
f.timestamp = ProtoField.absolute_time ("TimeStamp", "Time Stamp" )
--userlog HE$E 64 Byte, @1E: DY Prot-1Byte; #F=Operator-1Byte;
- IPhRASIPVersion-1Byte; IP ToS-1Byte;
- IEHEESourcelP-4Byte; NAT/E &b SrcNatIP-4Byte; Bt DestIP-4Byte; N
AT/EBERYMbIEDestNatIP-4Byte;&i% 1S SrcPort- 2Byte;NAT/E R[S SrcNatPort- 2Byte; BAJERC
DestPort- 2Byte;NAT /5 B im0 DestNatPort 2Byte;
- TRITEARTIEStartTime- Byte; i45ERATIBIENd Time- Byte;
- ORI EInTotalPkg- Byte; #2RZFT5InTotalByte- Byte; & HIREOutTo
talPkg- Byte; &HIRZFT5OutTotalByte- Byte
- Reserved! ¥3F0x02kf7 (FirewallV200R001) {REE, X3F0x03hRZ
(FirewallV200R005) S—ANFTAEVPN ID, E-AMFHABEMVPN ID, $=. ONFHIRE
- Reserved2 Reserved3 {88

f.proto = ProtoField.uint8 ("Prot", "Protocol" ,base.DEC, {[1]="ICMP",
[17]="UDP",
[6]="TCP",
[112]="VRRP",
[89]="OSPF"})

f.Operator = ProtoField.uint8 ("Operator", "Operator" , base.DEC, {[0]="reverse",
[1]="normal close flow",



2]="timeout",
3]="clear flow",
4]="overflow",

[

[

[

[5]="nat static",
[6]="time data threshold",

[7]="flow delete",

[8]="flow create"})

f.IPVerion = ProtoField.uint8 ("IP-Version", "IP Version")

f.IPToS = ProtoField.uint8 ("IP-ToS", "IP ToS" )

f.SourcelP = ProtoField.ipv4 ("Source-IP", "Source IP")

f.SrcNatlP = ProtoField.ipv4 ("Source-NAT-IP", "Source NAT IP")

f.DestlP = ProtoField.ipv4 ("Destnation-IP", "Destnation IP")

f.DestNatIP = ProtoField.ipv4 ("Destnation-NAT-IP", "Destnation NAT IP")
f.SrcPort = ProtoField.uint8 ("Source-Port", "Source Port" )

f.SrcNatPort = ProtoField.uint8 ("Source-NAT-Port", "Source NAT Port" )
f.DestPort = ProtoField.uint8 ("Destnation-Port", "Destnation Port" )
f.DestNatPort= ProtoField.uint8 ("Destnation-NAT-Port", "Destnation NAT Port" )
f.StartTime = ProtoField.absolute_time ("StartTime", "StartTime" )

f.EndTime = ProtoField.absolute_time ("EndTime", "EndTime")

f.InTotalPkg = ProtoField.uint32 ("InTotalPkg", "InTotalPkg" )

f.InTotalByte = ProtoField.uint32 ("InTotalByte", "InTotalByte" )

f.OutTotalPkg = ProtoField.uint32 ("OutTotalPkg", "OutTotalPkg" )
f.OutTotalByte= ProtoField.uint32 ("OutTotalByte", "OutTotalByte" )
f.Reserved1 = ProtoField.uint32 ("Reserved1", "Reserved1")
f.Reserved2 = ProtoField.uint32 ("Reserved2", "Reserved2" )
f.Reserved3 = ProtoField.uint32 ("Reserved3", "Reserved3" )

-#IEalL

packet_counter = 0

function userlog.init( ...)

packet_counter = 0

end

- ERRfEMTES UDP im[dS440000
udp_table = DissectorTable.get("udp.port")
udp_table:add (40000, userlog)

2, XFHhRARwiresharkfREF IS FluahTszds, THREE, BRARTEIIHLUTalIFX, Fia
T

FIFFinitluaX i, HEINTFeE

-- Set disable lua to true to disable Lua support.
[if disable lua then

return
end

{EFEFR TR initlua 34, ERBE—TIBMNIUserLog-new.luafiFF:

—— deprecated function names

datafile path = Dir.global config path
persconffile path = Dir.personal config path

sla = Al o)

dofile (DATA DIR.."UserLog-new.lua")

3. IEEfTHwireshark, BAIFAIABEIEERIUserlog B



¢ 245 2.455ME 192.168.2.65 192.168.2. 79 uoe 430 Ssource port: 1033 pestimation port: 6501 ool
246 2.494521 192.168.2.65 192.168.2.70 uoe 436 Source port: 1033 pestinmation port: 6501
247 2494575 192.168.2.65 192.168. upe 468 source port: 1032 m:tm:ion port: 6501

314 Flow version 15 3 Flow Count = 4

6501
251 2. 544902 192.168.2.65 192.168.2.70 uoe 435 Source port: 1033 pestimation port: 6501
252 2. 547610 192.168.2.65 192.168.2.70 uoe 457 Source port: 1033 pestimation port: 6501
253 2.571342 192.168.2.65 192.168.2.70 uoe 434 source port: 1033 pestimarion port: 6501
254 2. 581347 192.168.2.65 192.168.2.70 uoe 442 source port: 1033 pestinmation port: 6501
255 2. 594802 152.168.2.65 192.168.2.70 uoe 475 source port: 1033 pestimation port: 6501
256 2. 594841 192.168.2.65 192.168.2.70 uoe 433 source port: 1033 Destination port: 6501
257 2.603643 192.168.2.65 192.168.2.70 uoP 456 Source port: 1033 Destination port: 6501

258 1.603700

upe 439 Source port: 1033 pestimation port: 6501
0 Frame 249: 314 bytes on wire (25
@ Ethernet II, Src: Zte 00:1f:
@ Internet Protocel wersion 4

3 & ¥ b:95:
c: 192, !.“ 2.8 (192 1u 2 3) Dﬂ‘ 192 l“ 2 ?0 (192 l“ 2.70)
: 40000 (40000), Dst Port: €501 (6501)

—-—-by HIC TS navy

Fw version: v (3)
Log Type: Flow (4)
Log Count: 4

Time Stamp: Jun 4, 2015 23:56:48.000000000 [MIDEIDIDINED

Log no:l

protocol: TCP (6)

operator: rimeout (2)

1P version: 4

P Tos: O

Source IP: 10.25.21.227 (10.25.21.227)

e
No.  Time Source Destination Pratocal Length Info
245 2.455%48 192.168.2.65 192.168.2.70 uoe 430 Source port: 1033 Destination port: 6501
246 2.494521 192.168.2.65 192.168.2.70 uoe 436 source port: 1033 Destination port: 6501

247 2.494575 192.168.2.65 192.168.2.
248 1.497348 192.168. 2,635

uoe 468 Source port: 1033 Destimation port: 6500
uoP 516 Source port: 1033 Destimation port: 6501

. 521349 192.168.2.65
251 2. 544502 192.168.2.65

port: 1033 pestination port: 6501
port: 1033 pestimarion porr: 6500

252 2. 547610 192.168.2.65 port: 1033 Bestination port: 6501
253 2.571342 192.168.2.65 port: 1033 Destination port: 6500
254 2. 581347 192.168. 2. 65 .168.2. PREsT port: 1033 Destination port: 6501
255 2. 594802 192.168.2.65 192.168.2.7| 0% Fada port: 1033 pestinmarion porr: 6504
256 2. 594541 192.168.2.65 192,168, 2, 7{ &) Packet Comment... port: 1033 Destimation port: 6500
257 2.603643 192.168.2, 65 192,168.2. 70 port: 1033 pestination port: 6500
258 2.602700 192.168.2. 65 19216827 “onualy Resols Address port: 1033 pestination port: 6301

@ Frame 249: 314 bytes on wire (2512 bits), 94 byres captured (75
# Ethernet 11, Src: Zte 00:1f:fl (00:19:c6:00:1f:f1), Dst: bm_ab  FrepwedFe
% Internet Protecel version 4, Src: 192.168.2.5 (192.166.2.8), b5  Conversaton Fer
@ User Datagram Protocol, Src Port: 40000 (40000), Dst Port: 6501  Colrite Comverstion
= M3C Firewall session userlog
—--- Log - by H3C TSC navy
Fw version: vi (3)
Log Type: Flow (4)

Log cCount: 4 c =
Time Stamp: Jun 4, 2005 23:56:48.000000000 [DEDIDIDIDIN |  Copr L
—-userLog no:1---------~ SErmyemm ;
Protocals TcP (6) otocol Preferences
operator: timeout (23 U Decode As...
IP version: 4 & pmit..
IP Tos: O Show Packet n New Window
Source IP: 10.25.21.227 (10.25.21.227) —— o

userlogiR3Zi5iEE

serlogiRXEZER I TCP/UDP sessionZitLARNATERIESIT, £ AFLOW1.0FIFLOW3.0, Flow1.08
ZEAFHT, FUEERIIFLOWS.0, HTFEEETHEEII0IRS, U MREIHE,
B ABAIFE, FrEieE, EMATCP/UDPFEIS N — e &+ S sis=kBm, AT
FAERL, BIEER7<HEEaHRS.

EbanIPHbiib1.12.123.134R] LA/ it HIZR79: 01 0C 7B 86,

HpSANFEE RPN EARMENT:

UDPEEB: 550~81B

payloadiBs:
Version: FENEERRA, S11B, FHXIEV2R1AIAAIOX02, V2R5750x03,
LogType: AEIRAIZERY, NAT=1 BAS(ACCESS)=2 FLOW=4, 52/B,
Second: [EXIERGATE, £4~81B,
Operator: FREihSessioniizihl, FEGMIEFELEROXK01, 0X02iE0X08REIE. 5184°B.
SourcelP: FRAIEEIPHELE, §20~24/ B,
SrcNatlP: FERNATIEHSHTEIP, §25~28/B,
DestlP: FBEHIPHE, 529~324B,
SrcPort: FRNATERETCP/UDPI#OS, £37~381B,
SrcNatPort: ZRNAT/SIETCP/UDPEAE, #539~401B,
DestPort: FRBEHITCP/UDPIHIE, 41~42/B,
StartTime: FRRNAT SessionBlIZ2RIATE], 5545~48/ B,
EndTime: FraiERIEAIE, 5549~52/°B,
. B userlogB D IKEI80F TS, userlogEHEMKEH16F TS, BEB4ANFHUREK—FRRAIK
#_:SZ%‘ AR,
BT LANERE, BBAEREEXERNIMERE 7!
udp[m:n]==? FRUDPHIEMMNF B MFERINS,
MNREBEHE N userlogR X PEFER1.12.123. 134K, NFEEEETLA%EZudp contains 01 0C
7B 86
NREFHEMNEFHESONRF.12.123 13MEXRISIERE, WRTLUXEFEudp[28+64*n 4]
=010C 7B 86 //28=UDPEER8+5520I 8, nfXFx—NEEEL, MTURAN1500, FRLUX/MERAA2
1, GARIEHBIRE!.

W EFSwiresharkZEBRAEERN, BEUEELEAMconsole.luaX{t, iEEEEFuserlog
8.
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